spec 0000000 (BL-16A2)

2002.12.05
spec0000:0000
Cplot0O00D0:00000000OO

1 0ODo0oood

oooobooooobooo
0000000000000 0O0000000 N, 00000000 YesOOOODOODODO
oboooboooooooboooooobooooog

chk_thresh=-100 000 Omonitor 0000 chkthresh OO O0O0O00O0O0O0O0O0O0OO0O
Oo0o0ooOoOo0oO0oOoOoooooooon

000000 1.54A0000000000
getEDDDDODOD

getE000000000000O0OO0O0O0OOOOOOOO
00 quit 00 Dfourc 0000000000

0000000000000D0D0 (0Oo00o0)

0000000000000 000O000D0D lecalDODOOOOODOOODOOOOO

2 00

huber1:~$ fourc | tee —-ai filename

O00000Ofileneme0 00000000000 000000000O00O00O0O0O0Oscan0OO0OOOO

goooooooooOoOoOooOoOoOogooooOoOoOOoDOOoODDOOODOOOCOODOOODOOg, foure

OOoO0oo,00000 flenameO0 0000000000, 00000000tee00O000,000000

oooooooo
spec000000000OC00O0OCOOODOODOOOOOOOOOOODOOOOOOODOOOOOOOO

OooooooOooooooobobOfourcO-fO00OCO0OOOOCOOODOOOOO
fourcO0OOOO0OO

Welcome to "fourc" Release 4.03.11

Opening "SPECD/site.mac" at input nest level 1.
Opening "SPECD/stage.mac" at input nest level 2.
Opening "SPECD/monochro.mac" at input nest level 2.
Opening "SPECD/slit.mac" at input nest level 2.
Opening "SPECD/atten.mac" at input nest level 1.

1.FOURC>



oobooboooocooobooocooobooo

boobodoboobobooboboobobuoboboboobooboobonbOddspechog
ubbooooooooboobooboobobboooboobooboboboboboobobooboboOoan
O0000D0 spec000000000DOOhuberlkek.jpO telnet 0000000000 tallOO0O00ODO
ubooobooooooooo

huber1:~$ tail -f filename

O0000000000O0hhuberlkek,jp000000BL-16A200000000000000
0000000 000Ostartup00000O0O0O0CODOOOOOOODOO

1.FOURC> startup

OO0startup 00 0000000000000 O0COO0OO0O0return0000000000O0C0OO00OOOC
ubbooboooboobooboobooobobobooboooboooboobooa
obooobooooboaoood

(newsample)

Title for scan headers (fourc)?

(newfile)
Data file (/dev/null)? LSM0327.dat <-—-00000000000

Last scan number (0)7

Using "LSM0327.dat". Next scan is number 1.
oooooooogo

(setplot)
1) Do real-time screen plots during scans (YES)?

2) Do screen plot after scan (YES)?

8) Range x axis with scan min and max (NO)?

16) Force y-axis minimum to zero (N0O)?

32) Use logarithmic y-axis (NO)?

64) Do background subtraction for plots (N0O)?

128) Use high resolution plotting device (NO)?7 y <-—-000000

What kind of high-res graphics terminal (x11)? ~~°""""77~77"

256) Draw large dots at points (YES)?

512) Connect points with lines (YES)?
1024) Draw error bars (YES)?

Sum of selections is 131.

128)0 0000 yOOOoOoO
Oo0oooO0O0oooo0oo00oOo00ooOoU0ooOo0oo0oODoOoO000O0oU0DOOdUsetlat O
uboooooboboooboooboobooboboon
obooobooooooobooooooboo



3 bUbooobooo
3.1 ODugdodbobbouooobboooobn

check (check dt) O0O0O0O0O0OODO0OD/O0000D00O

3.2 00

obobooooobooooboboooooboOooooOoobobooooOoobOoboooOoOoboooooOon
oooo

4 0O0O0OO

4.1 0OD0OO0OO0O0O0OOOOO0O0OO0OOOOoOoObO

moveE energy energykeV O XOOOOOOOOOOOOOODO

dscan motor_name start stop interval time motor-name 0 00 000 start 00O stop O 0O O interval+1 0
O0000oobU00obO0o0obU0Obo0d timed OO0 start, stop
0o00O00oDoOOo0ooOooDoOooooa

chk_thresh gbooooobooooooboooooboboooooboon
oboooooooo
CEN gbooooooooooboboooobooon
4.2 00O

o0o040000000000000y,2z,ry, rz00000000000C0CDOOO0O0O0y00O0000O
obboO0zOoOOOoOOoOOoOoOoOooDOOooDOOoOODODO nmOOOODOO

oooooooooooOoOooooooooo0 CENOODOOOOOOOCENODOOOOODOOOD
0000000000000 00000O0000000000 plxMAXOOOOOOOOOOOOOOO
ooboobooooooobooooobooboooobOobooOooboOobOoooo

57.FOURC> dscan y -2 2 30 1

58.FOURC> mv y CEN
59.FOURC> dscan rz -2 2 30 1

Oo0oOoCENOOO0OO0Ooooooooooooooooooooogoooooobooooogooooo
obobooooooooobooooooooboooo
O0!'egetE0 00000000000 O0O0O0O0000000O
Oo00o0o0o0o00oo0o0oooo0oo0 quitOD0O0fourc00O00OO0OO0OODOOODO
gooOoOOOO0OOOOoOOoOooDoObDODDOODODODOODD lcalDODDODODOOOOOOO0OO0O0OO
ooboobooooooboooooOooboooOobOOobooOooboOobOoooo



5 Uogoood

0000000000000 0000O0O000OOslitslit2[0 0000000000000 00OO
boboobooooboooooooooooooobOoooobOOobOboOooOoOobOoooOoOobOoOoOoOoDOonon
oboboooboooboooooooooooooobooooboOoboooboOoboooobOoooOoDOoDn
0000000U00o00o0o0oU0oo0UOo0U00O0 (o0oUoO)00Do0DoOOoUoOoOooooUOoOo
OO0000slitslit200000000000000000DO0O000O000OO0GDO

ooboobooooooobooooooooo

5.1 ODudoodboboooogbboooobo

ascan motor_name start stop interval time motornamed 0 0000 start0 0 stop O O O interval+1 O
O0o0O0DODO0O0OODObOOO0OO0d ttmeDb OO0

slt, slb, s1l, slr, s2t, s2b, s2l, s2r gooooooooo,g,0,0oboooooo,o,o,o0
ooooooooooooo

5.2 00

ooooooooooooooooPFOOOOOOODOOOODOODODO

uboooooboobooboobooboboboooboobooboboooboobooobooboooboooba
ubboobuooboobooboboobooobooobooobooboboobooboboobooboobOoooban
ooocoooooboboOooOOooo

98.FOURC> ascan sl1t -1 1 40 1

99.FOURC> mv slt **x* <~--0000obbddsitdggoon
100.FOURC> set sit O

101.FQURC> mv sit -5

102.FOURC> ascan s1b 1 -1 40 1

obooooooooooboobooooobooboobOoboooOooooobOooOoooOoboooooOon
oboboobooooboobooooooboooooboooobOOoOoboOoOoOoboOoOoOobOoOoOoOoDbOobn
oobooooosooboboobooooooobooboooobooooboooboboobooooOooDbon
ooooooooooon

obooooooboooobooooooobooo

6 Joouooboooooobn

6.1 UUuddodbobooooobboooobn

config



6.2 00

00000000000000000000000000000000000000chid phiODOO00O
0000000000000 ooooooooooo0ooDo0oooO0oDoOooDoOO0dchi=00000
O0thO phiOOOODOODOOO0OO0OODODOOODOOOOOOODOchiDOOODOOODODOODOOOO
ooooo

phiD 0000000000000 0000000000O00Oconfigd phiO Sign of user * dial O 1,
0000-1(000000)0000000000U000O0O000 chiODODOODUODODOOOOODOOOOO
O0chiOODOOOO0O0OO 4£90°0000000 0°,180° 00000000000 specO0D0O0DOOO0O
O00000ooooo00oo0ooooooOophib000O0DO0ODOOOODOODO0ODOODDOODOOUBDO
ooo0o0o0oO0O0O0O0OO0OO0OO0O0o

configl 00000000 0O0O0O0O0OOOOO0OO0OO00oo0oooooog
ODdoobodoooodooodddooodoooodoooooo
oo obootdootdotdoooouotuoooouooouod
Ood
7T OO0
71 O00O000O0O0O0OO0O0O0OO0O0OO0OO0O0OO0

setlat oooooo

or0 UBOOODOOODOOOOOOOOOOO

orl UBOOODOOODOOOOOOOOOOO

reflex_beg reflex00000O

reflex relex0000000O0O

reflex_end reflex00 000

qdofilename OO0oooog filenamed O

calcl, relex0000000O0O

pa or0,1, 0000000

set_lm motor_name lower upper 000000

7.2 OO

setlat OO0 O0O0O0OOOO0O

BraggODOQOQOGQOODO

orOhkl(h,k,10000000000)00000O0OO

00000000 BraggOOOOOOO

orlhkl(h k1000000000 0O)0000OO0OO

0000000 UBOOO0O0ODODOO0O0ODODOOor00O0000D0ODODOOD0or100D0OOO00OO0O00OO
Oo0OdO0O0C0COor0,orl000OCOO00O0DODOOOOOODOOOOOODOOOOO2000000000
000 (0p0) 0000000000000 0O0D00O000O00O00UO0ODe 0O 00OO0OOOOO
Oo0o0O0o00ooOo0o0o0O000Doer112000000000000000000000«000O00O
O00000000Ooerl 12000000000 (¢2¢0)00000000000000ODO0OO0OOOOO
Oo0oo0o00oo0oooooOoooooooodUbor0,orl00O0O00O0DOO0OODODOOODOOOODO
ooooooooooo



0000000000000, UBOOO0OO0OO0O0O0O0OO reflex-beg reflex reflex end 000 300
00000000000 00D00 reflexbeg0 00000000 O0OO0ODOODOODOOOOODOOODO
gooood

20.FOURC> reflex_beg

Reflections file (reflex)?
O0000D0000000 reflex00000000O0DODOOOOOOOOODODODOOOOOO

21.FOURC> U0 220 00000ODO
22.FOURC> reflex 2 2 0

23.FOURC> U0 202 000O0O0OODO
24 .FOURC> reflex 2 0 2

25.FOURC> .... J0OOOOOOOOOO
26 .FOURC> reflex_end

Type 'qdo reflex" to recalculate orientation matrix

reflexend D00 00000000000 reflex 000000000000 O0O0O0OOOOOOOOOO
reflex 00000000000

27.FOURC> qdo reflex

Opened command file ’reflex’ at level 1.

OO0 UBOOUOOD itO0O0000000O0Ccalc,OO0OO0DOpal00O0O0OO0OOOOODOOODO
or0,orl 000000000 URBOOOODODOOOOOO0OO0OOODODODO qdoreflexODOOOOODODO
ooo

8 Looobod

ooboobooooooobooooobOoobooobOobooooOobOOoOoboooOoOoboOoooOon

8.1 0U4O4Ogon

mv motor_name angle

motor-name 000000000 angleD0OOO00O0ODOOOOOOO0OOOODODOODOO
O0OangleDO0O0O00OD0ODOOODOOOO
O O mv tth 30

mvr motor_name angle

mvOOOODOO0O0O0OO0O0O0O0ODOOO0O0000O0oa0
OO0mv th -1



umv motor_name angle

mvOOOOOOODOOOOODOOOO
O O umv phi 20

umvr motor-name angle

mvrO0 0000000000 0O00O00O00OO0
O O umvr chi -2

an tth th
tthO thOOO0O0OO0O00O0000000000
atten attenuator

ooboooboooooODbDattennOOp0O00000O0OOOOODOO1,2340000
00 0.1,02,03,04mm O00000001000000000500 90000000000

set motor_name value

motor.name D 0000000000000 O0O0O0OO walueO O QOO
OOset th O

config

obOoboobooooooobOooooOoooboobobooobOoooOobOoOooboOobobooono
goooooooo0oooooooooOowOOOooooooOOoDOoOOoOoOooDOoO ctrl4cO
ooboobobooooooooobobooOoboboooooboooooonoo

wa

ooboooooooooobboooOoobOboobOooboboOo0oOdset0o0oooOnO
gbooboobooobooboo

wh

waOOQOO

8.2 DOODOOODO
moveE energy

energykeV O XOOOODOODODODOOOOOO
O O moveE 6.655

getE

000 XO0OOoooooooooooooo
ud

getE

E = 12.3985 keV, 1.00001 Angstroms

check



oooooéoUiDoOonooooonog
check_dt pulse

OO00006OD0O00000 pulse0 00000000000 KO00000000000

Doood0
8.3 0OOOO
orQ h k1

0000 (hkl)ODOODOOOOODOOO0OOUBOOOOOODOO
orl hkl

or00 0000000000000 0D0O00DOUBODOOODOODOODODOODODOODODOO
cahkl

Oo00AEIDDOOOOOODODOOOO
oo

7.FOURC> ca 1 0 O

Calculated Positions:

HKL 1 0 O
Alpha = 0 Beta = 0 Azimuth = 90
Omega = 0 Lambda = 1.54

Two Theta Theta Chi Phi
60.0000 30.0000 0.0000 0.0000

br h ki
hklODODODDODODOOODO
ubr h k|
brd udO
setlat

startup DO OO 0000000000000 OO0O0O0O0OOO0O000O00O00000000
uboobooboboboobobooboobooboooo

reflex
30000 BraggDUO UBDUODOUOUODOOODOOODOO section OO ODOODO

onsim offsim



goboooooooooodooooooobooobooooooooooboobooboooo
00O00O000o0ob0oouuobdOspecbbdboboobobooooobooobob o
gdoo00dodoodoo0oodoododooooooDooooooooooooooo
O onsim offsim 0 OOonsim 0 spec D00 00000000000 ODoffsim 000000
ooooo

8.4 0O0O0O0OO
cvslitl center width

OO000000000,000 center 000000 widthOOODOODO
oo

13.FOURC> set sl1t O

39.FOURC> cvslitl 0 1

oobOoboooOoobDobooobodbodOset0 oODO0OODOOOOODODOOOOODODOO
ooooooooooog

cvslit2,chslit1,chslit2

o000 120000000000000000000DOVvhOOOOOOOOODODOOLODO
O0O000O00000 evslitl DOOODOODO

8.5 OO
ct time
Joooobboo0oooooooboboOodsmeDOOO0O
uct
ctd ul
ascan motor_name start stop interval time

motor_name 000000 start00 stopO0 O Dinterval+-1 00 000000000000
0000 #imed 000 0O0Oascan th 30 32 30 1

dscan motor_name start stop interval time
ascan 0 000 0O0OOstaert, stop0 000000 0O0O0OOOOOOOO
th2th start stop interval time
fg—2000000000000000O0O0DOO2000000
center width_th2th width_th width_chi width_phi interval time

000000000000 0000widthx000000000000006-200w,x0¢0
oobooboooboo3oboooobobooobooboooooooboooo



hklscan Hstart Hstop Kstart Kstop Lstart Lstop interval time

bobobobobooobooobboboobobobobddstart, stopd 00000
ooooooboooooboo

hscan Hstart Hstop interval time

00 () 00000000 EN D E00ODDOODOOOUOOON ksean, lscan 00O
O0OOHstart Hstop DO DO OO OO

Escan start stop interval time (fixQ)

0000000000000 00xQUO000000000000000O000O0O0OO 260
00000000000 000O0DODO00O000O0O0000DODODODO00ODO0OD0O00A0 kev
ooo

8.6 04U

go000oO0O0OOoOoOoO0LTCison.=100000000000000000O0O0OO0ODO0O0O _LTC4son_
=00000000ITC4dson.=1000000GPIBOOOOOOO scan0 0000 DOOOOO
te set_temp

OooopobDboOOg set temp O settemp 0000000
showtemp

oooooooon

8.7 0LOUOUod

qdo file_name
fileename 000000000 OOOOO
00000000000

d0o00odoU0oUoUOoU0OoUOoUOoUO00OdODU0ODOD00O000DUODUODUODOD
000000000000 ooooooooo0ooooooDooooooooooogUNIX
O0D00000000019990 40 2600 00BL-16A2000000000000000 vi
O muleOd0OO

doo0d0oU0oUoU0oUoUOoUOoU0UOoUOU0O0U0DO0DUODO0ODODUODUODODODn
do0d0oUdoU0oU0oUoUooUoDUDUDUDUODUODUODOOUOOOOOOODOn
00000000000 00000000 OKOODOOoOOO 0O £1degd0DDOODOOODO
0000000000000 oDoUooDooDoooUoooooooog

dscan th -1 1 40 1
mv th CEN

OO0 test.mac OO0 O00000000000O0O qdotesttmacDOO00000O0O0O000OO

0000000000000 CENOOOOOO (DooOooooooO)ooooooooo

O00000O0O00O000000O0OO0O0O00D plxMAXDODDODODODODDODODODODODO
oboboooOoooooobobooooobooon

10



def refine_th °’
dscan th -1 1 40 1
mv th CEN

)

0000000000000 000oo00ooOo0DooO0onDg refineth D000O0O0O
0000000000000 00000000000000000000OOo0Oo0OOOOYt $2
oobooboooooooo

def refine_th ?’

if ($# 1= 3) {

print "Usage: refine_th range interval time"
exit

}

dscan th -$1 $1 $2 $3

mv th CEN

3

$# 0000000000000 DOO0OO0OO0CODOO0OOOOOODOOOO 3000000
00000000000 print 0 exit 0OO0O0OD0OOO0OOOO0OODOCOOO

O00000ooooooohwhklOD0O0OCO0O0000ooooooocoo0oooOwh
oobooboo HK,LOOOOooOoooooooboooooooooooooo

8.8 0O0OO
newfile

ubobooobdoboooboooboboooboboboboboboooboboobonon

9 Joouooon

gobobooobobbodoobboooobo b booobobbooooooba

0000k IOOD00O000O0D00ODOD0O0ODOOODO0ODOODO0O0O0O000000O0000DO0OOO0OOd
0000000000000 00O00O000000DOOspecdOOsetmode000000000O0OCOO
oooooooooooo

0.0mega Fquals Zero

1.0mega Fixed

2.Zone or x and ¢ Fixed

3.Phi Fixed or Three Circle

4.Azimuth Fixed

5.Alpha Fixed

6.Beta Fixed

*FixedOOOOOOOOOOfreeze D0 0000000 FxOODODOOOOOOOOOeOOOOOO
gobboodoobobboooobobobooooooa

289.FOURC> setmode 3

11



290
291
292
293
294.
295
296
297
298

.FOURC>
.FOURC>
.FOURC>
.FOURC>

FOURC>

.FOURC>
.FOURC>
.FOURC>
.FOURC>

freeze 0O
br 1 00
dscan th -.5 .5 30 1
freeze 30
br 1 00
dscan th -.5 .5 30 1
freeze 60
br 1 00
dscan th -.5 .5 30 1

10 ODOO0ooogo

O000000: /usr/local/spec/lib
O00O0000O0: /usr/local/spec/macro

2000.2.29 SR Position

Current Positions (user, dial)

Two

60.
30.

-100

-81.

Theta
tth
0000
8178
Z

z
.5354
5079

dead S1it2 Lef

ml5

5.9998
0.9998
EEEEEEEEEEEEEEEEEEEEEEENEENER

Motor 21 Chi Phi
th chi phi
0.0000 -90.0000 180.0000
-3.1530 793.6600 184.3260
Ry Rz Atten

ry rz att
-1.8314 0.9159 0.0000
-1.8314 0.9159 12.0000
S1it2 Rig S1it2 Top
s21 s2r s2t
-0.5000 0.5000 -0.5000
8.6805 -8.6690 -6.5730

2000.3.2 Rotating anode position

Current Positions (user, dial)

Two

50
20

-69
-50

Theta
tth
.0000
.8178
Z

z
L7718
. 7442

dead S1it2 Lef

mlb

Motor 21 Chi Phi
th chi phi
0.0000 -90.0000 180.0000
-3.1530 793.6600 184.3260
Ry Rz Atten

ry rz att
-1.5116 0.2117 0.0000
-1.5116 0.2117 12.0000
S1it2 Rig S1it2 Top
s21 s2r s2t

Omega A
om_A
17.2764
-375.3708
Motor 11
mll
5.0000
297.2022
S1it2 Bot
s2b
0.5000
-14.5105

Omega A
om_A
17.2764
-375.3708
Motor 11
mll
5.0000
297.2022
S1it2 Bot
s2b

12

Two Theta
tth_A
0.0000
-24.0952
S1itl Lef
s11
-0.5000
3.0263
Motor 20
slb
0.5000
-19.3005

Theta
th_old
5.0000

29.7222
S1litl Rig
sir
0.5000
-15.0113
Polarimat
pol
90.0000
-73.9380

Two Theta
tth_A
0.0000
-24.0952
S1itl Lef
s11
-0.5000
3.0263
Motor 20
slb

Theta
th_old
5.0000

29.7222
S1litl Rig
sir
0.5000
-15.0113
Polarimat

pol

Y
y
45.1156
45.1156
S1litl Top
slt
-0.5000
5.6825
Omega P
pth
8.4021
4.4637
n

Y

y

21.4596
21.4596
S1litl Top
slt
-0.5000
5.6825
Omega P
pth



5.9998 -5.0000 5.0000 -5.0000 5.0000 0.5000 90.0000 8.4021
0.9998 4.3060 -3.9827 -10.9838 -9.8797 -19.3005 -73.9380 4.4637

11 C-PLOT

spec000000000O000O0OOOOUOO(0O0O0OOOD)00O0O0 C-PLOTOOUOOOOOO
gooodooooOoOoo0oooOoooooooDoon eplotODO0OO0OOOOOOODDODO C-PLOTOO
ooboooOooocooobooogoo

PLOT-> f1 scans.4

(Using public version)

This is scans.4, version 4.6, 12/11/95.

For instructions, type "h scans" in cplot.

Name of file (data)? xray/setup.1 ~ 0DO0bOO0ODbOOoOobOOoboboobooo
Using index file which shows 57 scans.
Print contents (NO)?

Normalize points (YES)?

Use #I (re)normalization value (NO)?
Calculate error bars (YES)?

Get MCA data if present (NO)?

Sort and merge points (YES)?

Rescale axis each time (NO)?

Retrieve by scan number (YES)?

Verbose mode (NO)?

Scans/options (1)

7 3 -~ 0DOO0000OOb0OoO0obODbOo0oo

Scan number 3

Thu Oct 1 00:21:26 1998

Counted to 1 second.

Two Theta H K L Epoch Seconds Counter 3 Counter 4 Counter 5 Counter 6

Counter 7 Monitor Detector

Column for x (1)7?

Column for y (-1)7

Column for monitor normalization (-2)7

Found 51 points.

Returning 51 points to plot.

(Counts per monitor count.)

PLOT->

13



ooboooooobooooboobooooobooOooooOoOobOooOooOobooOooboobOOoboOooooOon
000000000000 00o0 X11loooo)oooooooooooooo

PLOT-> zi x11
Started graphics filter "x11".

PLOT->

0000000000000 00D00O7 psfilter filename 000000000 00OUNIXOOOOOODO

000 Iprfilename 00O O OO0
goboogobbooobbuooobbbobbooobb bbb ooobbU npoo

gooooobboooobbbUd zz 000 oooooooon

PLOT-> np

PLOT-> zz

obobooboobooooboO0oboobdob0 radb0ob0OO0OOOO0OOOOOOOOOOOODOO

PLOT-> ra
xmin (-2.5) = -2 xmax (0.5) =0
ymin (0) = -1 ymax (47.8824) = 50
PLOT->

obobooboooooooboobooooboooo

0000000000000 000000000 &x0000000000O[DOOO)|00oooooo
ubbooboooboobobobooboobiob zz0000000000000O0A0O

0000000000 000000sy0 00000000 O0syLOOOOsy 0O opencircle 000
oooooooooboobooooooo

12 000

C-PLOTOO0O0OOOO0OOO0DOOOO0OOO0OODOOO0OOOO0DOOO0O0OO0O0O0O00000C
ooooooooooooooooooooooooOoOoOOOOO0OOOOOOOOOObObOBBOO
ocoooooooooooOoOoOOOOOOOOOOOOOOOOOOOOOOOOOOOOO0O0O00O
00000 s8o0iooooooooUoU0o0oooooooo(o)0ooo0oUooooooooo
oooooooooOoOoOOOOOOOOOOOOOOO0OOO0OOO0O0O0OOOOOOOOOOOOO00O0
oooooooOoOoOOOO0OO0OO0OO0OO0O0O0O00n

ocooOoOoO0Ooc-pPLOTOOOOOOO0OOO0OO0OOOOOOOOOOOOOOOOOOOOOO0OO
00000000 (0000000000000 00000000000x,y, 00000000 0O0ODOO
00o00000o00o0o0o00o0O0b00D00O0000O00O0O00O0D0DO0O00O0O0OO(@COO0O000
00000o0000)00000o00oo0b00oU0o00oo0oo0o0oo00o0oo0oooooooood
00o00000O0o0o0ooUoo0oooooooooUoo)o

00000 (000O0000)00000000000000000000Ohuber20 /home/wakabays/O
0 O plotting-macros/, fitting_macros/0 00 0000000000000 0O0OO0OOOOCOOOOOOO
000000 functions0 000000000000 0O0OO /home/wakabays/functions0 000000
oooooooooo

14



tu 1

Bk R ok ok o ook kK Kk Rk K ok ko K

# onefig: 1.datafile 2.Num 3.x 4.xunit 5.title 6.pos_x 7.pos_y 8.x_col
do onefig.cpm ../113/990529/990530.dat 20 h rlu 10K(200) -9 -2 1

do onefig.cpm ../113/990529/990530.dat 31 h rlu (300) -9 -8 1

do onefig.cpm ../113/990529/990530.dat 36 h rlu (100) -9 -14 1

#do onefig.cpm ../113/990529/990530.dat 43 h rlu (110) -9 -20 1

#

do onefig.cpm ../113/990529/990530.dat 46 h rlu 170K -.5 -2 1

do onefig.cpm ../113/990529/990530.dat 47 h rlu 170K -.5 -8 1

do onefig.cpm ../113/990529/990530.dat 45 h rlu 220K -.5 -14 1

#do onefig.cpm ../113/990529/990530.dat 44 h rlu 220K_phi=90 -.5 -20 1
#ray 0 100000

#zaltpb

Bk ko ok ok ook ok KK ok Rk K kR K

3 ok ok ok ok sk ok ok sk sk ok ok ok ok ok ok sk ok ok ok sk sk sk ok ok sk ok ok ok ok ok sk sk sk sk sk ok ok ok sk ok ok ok ok ok

ft 2 ~Ooo0oooog

cs ~goboooooocooo
2.256 2 0

2.26 20

2.256 2 0

2.256 2 0

2.26 20

2.256 2 0

eb 1 ~Ooo0oooog

f1 scans.4 -f $1 +n x=$8 y=-1 m=-2 $2 ~oo0oooooo
#f1 scans.4 -f $1 -n x=1 y=-1 $2

wi $6 $7 6 4 ~goboooooocooo

np ~g0o0oooooood

ty 000 ~g0ob00obooooboooood ey o 8 o0
#rax 66 70

#ray O 4000

tx ~gobooooooooooooon

$1 ~0000000¢1,$2...0000

$3 ~x00000

$4 ~x0000

Intensity ~y4oboooo

arb. units ~yUOooo0O +=xUOOOOOSO00000O0O0
zn 0.5 0.5 ~gooooobocoobooooooo

# $2

$5

“D ~znO0O0O
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sy O ~0oo0o0ooooooon
zaltpb ~0ogoog

#sy L
#zp
ke sk sk ok sk sk ks sk ok sk sk ok sk ek sk ok sk sk ok sk sk sk sk s ok sk sk sk ok sk ok sk ok

do fit.cpm ../../../214/990520/990521.dat 128 80

do fit.cpm ../../../214/990520/990521.dat 137 150

do fit.cpm ../../../214/990520/990521.dat 146 200

do fit.cpm ../../../214/990520/990521.dat 157 30

do fit.cpm ../../../214/990520/990521.dat 166 50

do fit.cpm ../../../214/990520/990521.dat 175 70

do fit.cpm ../../../214/990520/990521.dat 184 90

do fit.cpm ../../../214/990520/990521.dat 193 110

do fit.cpm ../../../214/990520/990521.dat 202 130

do fit.cpm ../../../214/990520/990521.dat 211 170

do fit.cpm ../../../214/990520/990525.dat 22 171

do fit.cpm ../../../214/990520/990525.dat 31 190

do fit.cpm ../../../214/990520/990525.dat 40 210

do fit.cpm ../../../214/990520/990525.dat 49 230

do fit.cpm ../../../214/990520/990525.dat 58 10

do fit.cpm ../../../214/990520/990525.dat 67 40

do fit.cpm ../../../214/990520/990525.dat 76 60
fit.cpm

re

ft 2

tx ~-ooooooooboooooooo
parameter=$3 datafile:$1 scan # $2 ~00000o00Os$1,%42...0000
b4 ~x00000

? ~x0000
Intensity ~yoboooo
arb. units ~yOoooO «x0OOO0OOOs0000000
f1l scans.4 -f $1 x=1 y=-1 m=-2 $2 ~gooooooo
eb 1

np

sy O

zw

zz ~oo00oooo

#£3 gauss.b5 fitcmd_out.cpm $3

£3 Gaussian.b fitcmd_out.cpm $3 « Gaussian 00 fitting OO0 fitemd_out OO0
sy L ~00ooooooooood
zp ~ fitting OO OO0
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u sleep 1
zx

.98
1.02

rp par.out

fi 0 2 p5=$1
fi 01234

#sp par.out w

sP Par.out.$1 w

md
.98
1.02
300

ex

\H@120\We-\ (*x\s\u2\b\d\1 @\ (*x\s\u2\b\d\1
Const. BGOA:
Linear BG@B:
Intensity@I:
Peak Pos.@P:
Qw:
\H@120\W@-Temperature @Temperature

\H@120\We-A:
\H@120\We-B:
\He12@\We-I:
\H@120\We-P:
\H@120\We-W:

tu 1

FWHM

< fitting000DODO
~0000000 (point get)

~ fitting parameter 000 (limit)
~000000000 (00000 back ground)
~goooooodd

~000000000 (00000 back ground JO0)
~goooooodd

~000000000 (00000 Intensity)
~goo0oooooo
~oboooooooo@oooooooooon)
~goooooodd
~-0ooooooooo(@ooooooooooooobon)
~goooooodd

1

fitting O OOOO0OO

fitting 000

fitting O OOOOO

< fitting DO O0OO00O0O0O0O0O0O0O0O0O0O0DOO
~gooooood
~gooooooo

~gooooooo

— fitting 000000

= 150.4

Const. BG = 5.39705e-06\1\(1h
Linear BG = 4.58796e-05\1\(1h
Intensity = 0.0272176\|\(1h
Peak Pos. = 1.003\[|\(1h
FWHM = .002\ |\ (1h

= 170
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#Intensity

ft 2

cs

2.25 2 0
2.25 2 0
2.256 2 0
2.25 2 0
2.25 2 0
2.256 2 0
eb 1

u rm par_all.tmp
u cat Par.*>par_all.tmp
f4 fitpar.4 par_all.tmp 5 2

wi-9-264
np

ty 000

tx
Temperature
K

Intensity

arb. units

sy O
zaltpb

#Width
ft 2
cs

.25
.25
.25
.25
.25
.25

NN NN NN
NN NN NN
O O O O OO

eb 1
f4 fitpar.4 par_all.tmp 5 4

wi -9 -8 6 4
np

ty 00 0
tx

Temperature
K

FWHM

rlu

sy O
#ray 0 .01
zaltpb

#Peak position

ft 2
cs
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2.25 2 0
2.25 2 0
2.256 2 0
2.25 2 0
2.25 2 0
2.256 2 0
eb 1

f4 fitpar.4 par_all.tmp 5 3

wi -9 -14 6 4
np

ty 000

tx

Temperature
K

Peak center
rlu

sy O
#ray 1.25 1.26
zaltpb

#Back Ground

ft 2

cs

2.256 20
2.256 20
2.256 20
2.256 20
2.256 20
2.256 20

eb 1
f4 fitpar.4 par_all.tmp 5 0

wi-.5-2614
np

ty 000

tx

Temperature
K

Back Ground
arb. units

sy O
zaltpb

#Back Ground(slope)
ft 2
cs

N NN
oo

N

o ;o
NN DN DNN
O O O O O

NN DN DNN

N
9]

19



2.26 20
eb 1
f4 fitpar.4 par_all.tmp 5 1

wi-.5-864
np

ty 000

tx

Temperature
K

Back(slope)
arb. units

sy O
zaltpb

#end
ZX

}
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